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                                                                             Roll No............................ 

 

DD-2641 (SE) 
B.Sc./B.Sc. (Home Science)/B.Sc. b. Ed. 

 (Part I) EXAMINATION, 2020 
(Foundation Course) 

Paper First 
HINDI LANGUAGE 

Time : Three Hours 
Maximum Marks :75 

Minimum Pass Marks :26 
 

uksV% & lHkh ik¡p iz'uksa ds mRRkj nhft,A  
 

 

bdkbZ&1 
 

1- ¼v½ ,d vPNs vuqoknd ds xq.k crykrs gq, y{; Hkk’kk ,oa L=ksr Hkk’kk esa varj     

    crkb;sA                        (8)
        

vFkok 
 

          vaxzsth ds fuEufyf[kr inukeksa ds fgUnh inuke fyf[k;s& 
Agent, Contract, Advocate, Chairman, Account, Collector, Academic, 
Adult 
 

   ¼c½ Þckydß izk;% vyx&vyx LoHkko ds gksrs gSA ÞbZnxkgß dgkuh ds vk/kkj ij   

 gkfen dh pkfjf=d fo”ks’krk crkb;sA      (7) 
 

                                  vFkok 
 

ÞbZnxkgß dgkuh dh fo”ks’krk,a fyf[k;sA 
 

bdkbZ&2 
 

 

2- ¼v½ fuEufyf[kr ds mÙkj funsZ”kkuqlkj nhft;s&     (8) 
 

 

      ¼i½ ÞQwy dh ekyk cukvksaß bl okD; dks “kq) dhft;sA 

      ¼ii½ Þunhß dk i;kZ;okph “kCn fyf[k;sA 

      ¼iii½ Þvuqjkxß “kCn dk foykse “kCn fyf[k;sA 
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      ¼iv½ Þfn;kß “kCn ds nks vFkZ fyf[k;sA 

      ¼v½ Þvkfnß vkSj Þvknhß bu leJqr “kCnksa ds vFkZ fyf[k;sA 

      ¼vi½ Tkks lc dqN tkurk gks blds fy;s ,d “kCn fy[ksaA 

      ¼vii½ Þvius eqag fe;ka feBBw cuukß eqgkojs dk vFkZ crkb;sA 

      ¼viii½ Þv/kty xxjh Nydr tk;sß yksdksfDr dk vFkZ crkb;sA 
 
   ¼c½ ÞHkkjr oanukß dfork dk dsanzh; Hkko vius “kCnksa esa fyf[k;sA       (7) 
 

vFkok 
 

 

       ÞHkkjr oanukß esa Hkkjr ekrk dh vafdr Nfo ds ckjs esa nl iafDr;ka fyf[k;sA    
 

      bdkbZ&3 
 

3- ¼v½ nsoukxjh fyfi ds Lo:i dh tkudkjh nsrs gq, mldh fo”ks’krk,a crkb;sA  (8) 
 

vFkok 
 

 la{ksi.k ls D;k rkRi;Z gS? blds egRo ,oa mi;ksfxrk dks le>kb;sA   
 

   ¼c½ fuEufyf[kr x|ka”k dk lkjka”k fyf[k;s ,oa mfpr “kh’kZd fyf[k;sA  (7) 
 

       vkt dk fo”o dEI;wVj ds ;qx esa lkal ys jgk gSA dEI;wVj dk ;g 
jksekapdkjh vkSj lqfo/kk iznk; dk i{k ,d rjg ls [krjs dh ?kaVh Hkh gSA ;g 
/khjs&/khjs euq’; dks fuf’Ø; vkSj mRlkg foghu izk.kh cukrk tk;sxkA mldks 
“kkfUr dk fu;a=.k Hkh lkSirk tk jgk gSA Hkfo’; esa ;q) dEI;wVj fu;af=r gks 
tk;sxsA iyHkj esa fo”kky uxj ,oa cfLr;ka /koLr dh tk ldsaxhA vHkh rks euq’; 
fo”o ;q)ksa dh vk”kadkvksa ls gh =Lr gS] vkxs czEgk.M ;q)ksa dks Hkh >syuk iM+ 
ldrk gSA vr% euq’; dks foKku dk Lokeh cudj gh jguk pkfg;sA mls viuk 
Lokeh ughaa cuus nsuk pkfg;sA 
 

     vFkok 
 

      ÞHkksykjke dk thoß O;aX; dk ewyHkko crkb;sA 
 

       bdkbZ&4 
 

4- ¼v½ dEI;wVj esa fgUnh ds vuqiz;ksx ij izdk”k Mkfy;sA    (8) 
 

vFkok 
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       dEI;wVj dk laf{kIr ifjp; nsrs gq, tulkekU; ds fy;s mlds egRo ,oa    
       mi;ksfxrk izfrikfnr dhft;sA 
 
   ¼c½ Þf”kdkxks ls Lokeh foosdkuan dk i=ß dk lkjka”k yxHkx 200“kCnksa esa fy[kksA(7) 
 

vFkok 
 

 eSlwj ds egkjktk dks fy[ks i= esa Lokeh foosdkuan th us Hkkjr esa f”k{kk ds    

 izlkj ds fy;s dkSu&dkSu ls mik; lq>k;s gS? 
 

bdkbZ&5 
 

5-   ¼v½ ekud Hkk’kk ls D;k rkRi;Z gS? bldh izeq[k fo”ks’krkvksa dks fyf[k;sA   (8) 
 

vFkok 
 

 ekud] vekud ,oa miekud Hkk’kk dks le>krss gq, mlds ,d&,d mnkgj.k    
 fy[ksaA 
 

   ¼c½ Þvk/kqfud dky esa Hkkjr dh lkekftd fLFkfr vPNh Fkhß bl dFku dh foospuk   

       dhft;sA          (7) 
 

vFkok 
 

izkphu dky ls vk/kqfud dky rd gqbZ lkekftd xfr”khyrk ds varj dks 
le>krs gq, izeq[k fcanqvksa dks fyf[k;sA 

 

-------------- 



 

A-10 P. T. O.  

Roll No. ...................................  

BD 2642 

B. Sc. (Part I) EXAMINATION, 2018 

(Foundation Course) 

Paper Second 

ENGLISH LANGUAGE 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 26 

Note : All questions are compulsory. 

Unit I 

1. (A) Do as directed any twenty of the following : 20 

Insert suitable article where necessary : 

(i)  There is .......... fly in .......... lemonade. 

(ii)  ..........book on the shelf is .......... 

interesting one about history. 

(iii)  ..........youngest brother is at .......... 

school now. 

(iv)  Do you prefer ..........book of .......... 

adventure. 
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A-10 

Fill in the blanks with appropriate models : 

(v)  You ..........leave the office early today. 

(permission) 

(vi)  We ..........aim at noble goals.  
  (desirability) 

(vii)  He has sent the message that he .......... 
be late. (possibility) 

(viii) . I.......... take my raincoat. 

(compulsion) 

Fill in the blanks with present indefinite or the 
present continuous forms of the verbs given in 
the brackets : 

(ix)  He generally .......... a bus to his office, 
but today he .......... on a scooter. 
 (take, ride) 

(x)  He rarely .......... a pen, but he .......... one 
now. (use, use) 

(xi)  Ask the woman what she .......... . (want) 

(xii)  Neha .......her homework at present. (do) 

Rewrite the following sentences in indirect 
speech : 

(xiii) 
 

(xiv)  ant 

driver. 
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(xv)   

(xvi)  
Verma to her servant. 

Change the Voice : 

(xvii) The earth is known to be round. 

(xviii) Mona Lisa was painted by Leonardo. 

(xix)  Make these announcements. 

(xx)  The students are decorating the college 
hall. 

 

(xxi)  You are clever; you know it well. 

(xxii)  

or   

(xxiii) That is a .......... good idea. 

(xxiv) It is .......... hot to work today. 

Combine using a gerund : 

(xxv) He admitted. He had taken the money. 

(xxvi) You teach. Do you enjoy it. 

Supply possessive or  

(xxvii) I have bought it for .......... and for no 
one else. 

(xxviii) Have we to do it all by .......... . 

Insert preposition :  

(xxix) He told her .......... the police. 

(xxx) I wrote .......... my father a letter .......... 
last week. 
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(B) 
 5 

        

(i) Indigenous (a) right to vote 

(ii) Obligation (b) not of physical things 

(iii) Suffrage (c) showered with water  

(iv) Sprinkled (d) native 

(v) Spiritual (e) a duty 

(C) Give the synonyms of any five of the  
following  : 5 

(i) rescue 

(ii) dominant 

(iii) landed 

(iv) obtain 

(v) abnormal 

(vi) progeny 

(vii) qualm 

(D) Give antonyms of any five of the following  : 5 

(i) poverty 

(ii) vanish 

(iii) long 

(iv) rapid 

(v) dubious 

(vi) adequate 

(vii) divorce 
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Unit II 

2. Read the following passage and answer the questions 
given below it : 5 

We know that sleep, rest and exercise are essential  
for health. Walking is, in fact, the best form of 
exercise. So, a regular morning walk is very useful. It 

provides exercises to the body and freshness to the 
mind. A morning walk exercises many parts of the 

body legs, arms, waist and chest. Fresh air goes 
into the body and improves the working of the lungs. 
It increases appetite and regular digestion. As a 
result, we feel active as well as fit. A morning walk 

is refreshing too. The cool morning breeze is very 
embracing. It recreates the mind and gives new 
energy s. 

Questions : 

(i) What are the three essential things for health ? 

(ii) How is morning walk useful to us ? 

(iii) How is fresh air helpful to us ? 

(iv) What is the function of the cool breeze in the 
early morning ? 

(v) Give a suitable title to the passage. 

Unit III 

3. Write a paragraph of about 200 words on any one of 
the following : 10 

(i) Saving Our Environment` 

(ii)  
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(iii) Regionalism in India 

(iv) Fusion of Cultures in Indian Art 

Unit IV 

4. (a) Write a letter to your mother, asking her to send 
you some money for buying books. 5 

Or 

Write a letter to your friend telling him why you 
could not honour his invitation to her Birthday 

Party. 

(b) Write an application to the Registrar of your 
University asking him for an early declaration 
of result. 5 

Or 

Write a letter of complaint to the Municipal 
Commissioner of your city, drawing his 
attention to the bad sanitary conditions of your 
colony. 

Unit V 

5. Answer any five of the following questions : 15 

(i)  

Without  

(ii)  
past ? 

(iii)  In what way was Goethe indebted to India ? 

(iv)   
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(v)  What else, besides the story of Ram, does the 
Ramayana depict ? 

(vi)   

(vii)  What sort of judiciary do we have in India ? 

(viii)  

(ix)   distress end ? 

(x)  How can a detective and a prince be compared ? 

(xi)  How do the trees sing ? 
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Roll No. ……………………….. 

 

DD-2670 (SE) 

B.Sc. (Part-I), EXAMINATION, 2020 
 BIOTECHNOLOGY 

Paper First 

(Biochemistry, Biostatistics and Computers) 

Time : Three Hours 

Maximum Marks : 50 

 

uksV% lHkh ik¡p iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSaA lHkh  iz”uksa ds vad 

leku gSa A 
 

Attempt all the five questions. One question from each Unit is compulsory. All question carry equal 

marks. 
 

bdkbZ –I 

Unit –I 

1-  tSojlk;fudh ds fodkl ,oa foLrkj ij foLrr̀ o.kZu dhft,A 

 

      Write a detailed account on scope and development of Biochemistry. 
 

vFkok 

   fuEu esa ls fdlh nks ij laf{kIr fVIi.kh dhft, % 

(i) eksuks lSdjkbM 

(ii) fyihM ds dk;Z 

(iii) dkcksZgkbMªsV dk oxhZdj.k 

 

    Write Short notes on any two: 

(i)  Mono saccharides 

(ii)  Function of lipids  

(iii) Classification of carbohydrate        

bdkbZ –II 

Unit- II 

 2- izksVhu ds prqHkqZt lajpuk dk mnkgj.k lfgr foLrr̀ o.kZu dhft,A 

       Explain in detail quaternary structure of protein with example.  

Or 

vFkok 
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    fuEu esa ls fdlh nks ij laf{kIr fVIi.kh dhft,A 

(i) ,Utkbedk ukedj.k 

(ii) ,ehuks vEy 

(iii) ,Utkbe ij izHkko Mkyus okyk dkjd 

       Write short notes on any two: 

(i) Enzyme 

(ii)  Amino acid  

(iii) Factor affecting enzyme 

bdkbZ –III 

Unit- III 

  3-  ,ysDVªku VªkaliksVZ J̀a[kyk ij foLr`r o.kZu dhft,A 

         Give detail account on electron transport chain. 

Or 

vFkok 

 fuEu esa ls fdlh nks ij laf{kIr fVIi.kh dhft, & 

(i) vkWfDlu 

(ii) bUlqfyu dh lajpuk ,oa dk;Z 

(iii) QSVh vEy dk β &vkWDlhdj.k 

Write short notes on any two: 

(i) Auxin 

(ii) Structure & function of insulin 

(iii) β– oxidation of fatty acid 

bdkbZ –IV 

Unit –IV 

   4- vk¡dM+ks dk laxzg.k] izlaLdj.k ,oa izLrqfrdj.k ij foLrr̀ o.kZu dhft,A 

 

          Write an explanation note on collection, processing and presentation of data. 

Or 

vFkok 

 fuEu esa ls fdlh nks ij laf{kIr o.kZu dhft, & 

(i) fn, x, vk¡dM+ks ls ef/;dk Kkr dhft,& 

        8, 5, 7, 10, 15, 21 
(ii) eksM 
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(iii) ekud fopyu 

Write short notes on any two- 

(i) Calculate median form given data- 

8, 5, 7, 10, 15, 21 

(ii) Mode 

(iii) Standard Deviation 

bdkbZ –V 

Unit- V 

   5- dEI;wVj ds laxBu ij foLrr̀ o.kZu dhft,A 

 

          Write a detailed account on organization of computer.  

Or 

vFkok 

fuEu esa ls fdlh nks ij laf{kIr fooj.k dhft, & % 

(i) tSo IkzkS|ksfxdh esa dEI;wVj dk vuqiz;ksx 
(ii)  dEI;wVj ,Yxksfjne 
(iii) gkMZos;j ladYiuk 

Write short notes on any two :- 

(i) Application of Computer in Biotechnology 

(ii) Computer Algorithm  

(iii) Hardware Concept 

 

--------------------------- 
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DD-2671 (SE) 

B.Sc. (Part-I), EXAMINATION, 2020 
 BIOTECHNOLOGY 

Paper Second 

(Cell Biology, Genetics and Microbiology) 

Time : Three Hours 

Maximum Marks : 50 

 

uksV% lHkh ik¡p iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSaA lHkh  iz”uksa ds vad 

leku gSa A 
 

Attempt all the five questions. One question from each Unit is compulsory. All question carry equal 

marks. 
 

bdkbZ –I 

Unit –I 

1-  QkLQksfyfiM] IykTek f>Yyh dh egRoiw.kZ bdkbZ gSa A Li’B djsaA 

 

      Phospholipid is important unit of plasma membrane. Explain it. 
 

vFkok 

   xzke _.kkRed thok.kq ds dksf”kdk fHkRrh dh fo”ks’krkvksa dk o.kZu dhft;saA 

     Discuss about the characteristics of cell wall of gram negative bacteria. 

bdkbZ –II 

Unit- II 

 2- ,.MksIykfTed jsfVdqye dh lajpuk cukb;s rFkk blds dk;ksZa dk o.kZu dhft;saA 

       Draw the structure of Endoplasmic reticulum and write down its functions. 

Or 

vFkok 

 

     laf{kIr fVIi.kh dhft,A 

(i) ,ukQst 

(ii) Ykk;lkslkse 

       Write short notes on: 

(i) Anaphase 

(ii)  Lysosome  
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bdkbZ –III 

Unit- III 

  3-  lgyXurk D;k gSa A le>kb;sa fd ;g fdl rjg ls es.My fu;eksa dk viokn gSaA 

         What is linkage? Explain how it is exception of Mendels law 

Or 

vFkok 

 cgqxqf.krk D;k gSaA mnkgj.k nsdj le>kb;sA 

What is polyploidy? Explain with suitable example. 

bdkbZ –IV 

Unit –IV 

   4- lw{etho foKku ds dk;Z {ks=ksa dh ,d lwph iznku dhft;sA 

 

          List the scopes  of microbiology. 

Or 

vFkok 

 laf{kIr fVIi.kh fyf[k;s & 

(i) izksVkstksvk dh fo”ks’krk,¡ 
(ii) LizsM IysV fof/k 

Write short notes on - 

(i) Characteristics of Protozoa  

(ii)  Spread plate method 

bdkbZ –V 

Unit- V 

   5- ek;dksIykTek }kjk QSyk;s tkus okys jksxksa dh ,d lwph iznku dhft;s A 

 

          Give a list of diseases spread by mycoplasma.  

Or 

vFkok 

Mh-,u-,- gh vuqokaf”kd inkFkZ gksrk gSaA VªkalQkjes”ku fØ;k dk mnkgj.k nsrs gq, le>kb;sA 

DNA is the genetic material. Explain with the example of transformation. 

 

--------------------------- 
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DD-2651 (SE) 

B.Sc./B.Sc. B.Ed. (Part-I) EXAMINATION, 2020  
BOTANY 

Paper-First 

(Bacteria, Viruses, Fungi, Lichens and Algae) 
Time : Three Hours 

Maximum Marks : 50 

 

 
uksV%& lHkh ikap iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSA lHkh iz”uksa ds vad leku gSA 

NOTE :- Attempt all the five questions. One question from each unit is compulsory. 

All questions carry equal marks. 

 

 
bdkbZ (Unit)-I 

 
1- fo’kk.kq dh lajpuk vkSj tuu fof/k;ksa dk lfp= o.kZu dhft,A 

Describe the characteristic structure and method of reproduction in virus. 

vFkok Or 
 fuEufyf[kr ij fVIif.k;k¡ fyf[k,A 

 v½ ok:vkbM~l 

 c½ ekbdksjkbtk ds izdkj 

 

 Write notes on the following- 

a) Viroid’s 
b) Types of Mycorrhiza  

 

 

bdkbZ (Unit)-II 
2- thok.kqvkas dh tuu fof/k;ksa dk foLr`r o.kZu dhft,A 

Write an explanatory notes on reproduction of Bacteria. 

vFkok Or 
fuEufyf[kr ij fVIif.k;k¡ dhft,& 

v½ jkbtksfc;e 

c½ thok.kq esa ikjØe.k ;k thu ogu 

 

 Write notes on the following- 
a) Rhizobium 

b) Transduction in Bacteria. 
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bdkbZ (Unit)-III 
3- xsgw¡ esa LeV jksx mRiUu djus okys dod ds thou pØ dk o.kZu dhft,A 

Describe the life cycle of fungus which is responsible for causing smut 

disease on wheat.   

vFkok Or 
fuEufyf[kr ij fVIi.kh dhft,& 

v½ ljdksLiksjk 

c½ ,lijthyl esa vySafxd iztuu 

Write short note on the following- 

a) Cercospora. 

b) A Sexual Reproduction in Aspergillus. 

 

 

bdkbZ (Unit)-IV 
4- ,DVksdkiZl ds thou pØ dk o.kZu dhft,A 

Describe the life cycle of Ectocarpus.  

vFkok Or 
fuEufyf[kr ij fVIif.k;k¡ fyf[k,& 

v½ xSMqdkso Qhuksfeuk 

c½ dkjk ds iztuu vax 

Write short notes on the following- 

a) Gaidukov Phenomena 

b) Sex organs of Chara 

 

 

 

bdkbZ (Unit)-V 
5- Ykkbdsu ds izdkj] lajpuk rFkk iztuu fof/k;ksa dk o.kZUk dhft,A 

Give a genual  account on type, structure and reproduction of lichen. 

vFkok Or 
fuEufyf[kr ij fVIi.kh dhft,- 

v½ e”k:e ck;ksVSDuksykWth 

c½ Ålj Hkwfe iquxzZg.k esa uhy&gfjr “kSoky dh HkwfedkA 

Write short notes on the following 

a) Mushroom Biotechnology 

b) Role of Blue Green Algae in Ushar Hand Reclamation. 

 

 

 

------------- 
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DD-2652 (SE) 

B.Sc./B.Sc. B.Ed. (Part-I) EXAMINATION, 2020  
BOTANY 

Paper-Second 

(Bryophytes, Pteridophytes, Gymnosperms and Palaeobotany) 
Time : Three Hours 

Maximum Marks : 50 

 

 
uksV%& lHkh ikap iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSA lHkh iz”uksa ds vad leku gSA 

vko”;drkuqlkj ukekafdr fp= cukb,A 

NOTE :- Attempt all the five questions. One question from each unit is compulsory. 

All questions carry equal marks. Draw well labelled diagrams whenever necessary. 

 

 
bdkbZ (Unit)-I 

 
1- czk;ksQkbV~l esa chtk.kqn~fHkn dk fodkl dks le>kb;sA 

Explain the evolution of sporophytes In bryophytes.  

vFkok Or 
 fuEufyf[kr esa ls fdUgh nks ij laf{kIr fVIi.kh fyf[k,& 

 v½ czk;ksQkbV~l esa lwdk; laxBu 

 c½ fjfDl;k 

 l½ ,sUFkksfljkWl LiksjksQkbV 

 

 Write Short notes on any two of the following- 

a) Thallus organization in bryophytes 

b) Riccia 

c) Anthoceros sporophyte  

 

 

bdkbZ (Unit)-II 
2- fo’kechtk.kqdrk rFkk cht LoHkko dks foLrkjiwoZd le>kb;sA 

Explain heterospory and seed habit in detail. 

vFkok Or 
fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIi.kh fyf[k,%& 

v½ Vhykse fl)kar 

c½ VsfjMksQkbV~l ds lkekU; y{k.k 

l½ ,tksyk&tSo moZjd ds :Ik esa 
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 Write short notes on any two of the following- 

a) Telome theory 

b) General characteristics of pteridophytes 

c) Azolla-as biofertilizer  

bdkbZ (Unit)-III 
3- bfDolhVe esa iztuu dk o.kZu dhft;sA 

Describe reproduction in Equisetum.  

vFkok Or 
fuEufyf[kr esa ls fdUgh nks ij laf{kIr fVIi.kh fyf[k,%& 

v½ eklhZfy;k dk LiksjksdkiZ 

c½ flySftusyk ds rus dk vuqizLFk dkV 

l½ ykbdksiksfM;e ds rus dk vuqizLFk dkV 

write short note on any two of the following- 

a) Sporocarp of Marsilea 

b) T.S. of Selaginella stem 

c) T.S. of Lycopodium stem 

bdkbZ (Unit)-IV 
4- Ikkbul uhfMy dh lajpuk dk foLrkjiwoZd o.kZu dhft,A 

Describe structure of pinus needle in detail. 

vFkok Or 
fuEufyf[kr esa ls fdUgh nks ij laf{kIr fVIi.kh fyf[k,& 

v½ bQsMªk ds rus dk vuqizLFk dkV 

c½ lkbdl ds i.kZd dh vkarfjd lajpuk 

l½ ikbul eknk “kadq 

write short note on any two of the following- 

a) T.S. of Ephedra Stem 

b) Internal structure of Cycas leaflet  

c) Female cone of Pinus  

bdkbZ (Unit)-V 
5- Tkhok”e D;k gS \ muds izdkjksa dk o.kZUk dhft,A 

What is fossils ? Describe the different types of fossils. 

vFkok Or 
fuEufyf[kr esa ls fdUgh nks ij laf{kIr fVIi.kh fyf[k,& 

v½ ykbftuksIVsfjl 

c½ jkbfu;k 

l½ Hkw&xHkhZ; le; lkfj.kh 

write short note on any two of the following- 

a) Lyginoptesis 

b) Rhynia 

c) Geological Time Scale 

 

------------- 
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DD-2645(SE) 

B.Sc./B.Sc. B.Ed. (Part I) Examination, 2020 

CHEMISTRY 
 

Paper First  

¼ Inorganic Chemistry½ 

Time : Three Hours 

Maximum Marks : 33 
 

uksV% lHkh ik¡p iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSA  

     Attempt all the five questions. One questions from each Unit is compulsory.                                
         

bdkbZ& I (Unit-I) 
 

     1 ¼v½%&  fuEu ij laf{kIr fVIi.kh fy[kksa%          3 vad 

  ¼i½ ikÅyh dk viotZu flnkar  

  ¼ii½ Mh& czkxyh dh )Sr izd`̀fr /kkj.kk 
     Write short notes on following 

  (i)  Pauli’s exclusion principle  
(ii) Dual nature concept of De-Broglie  

¼c½%& fuEu dks le>kb,%           4 vad 

  ¼i½ C1 vk;u dk vkdkj C1 ijek.kq ls cM+k gksrk gSA 

  ¼ii½ B dk vk;uu foHko Be ls de gksrk gSA 

  ¼iii½ fo|wr _.kkRedrk ,oa bysDVªku cU/kqrk esa varj 

¼iv½ vkorZ esa ck,a ls nk,a tkus ij ijek.kq Øekad c<+rk gS ij f=T;k de   

    gksrh tkrh gSA 
   Explain the following : 

(i) Size of C1 Ion is more than C1 Atom. 

(ii) Ionisation potential of B is less than Be. 

(iii) Diffrence between Electronegativity and Electron affinity. 

(iv) In a period from left to right atomic number increases, but radius 

decreases. 
 

vFkok@Or 
 

  ¼v½ vkDlhtu ds vkBosa bysDVªku ds fy, pkjksa DokaVe la[;kvksa dk eku fudkyksA 

                2 vad 

      Determine value of four quantum numbers of eigth electrom of oxygen. 

  ¼c½ laf{kIr fVIi.kh fyf[k,% 

   ¼i½ fo|wr _.kkRedrk vkSj bldh vkorZrkA 

   ¼ii½ izHkkoh ukfHkdh; vkos”kA           4 vad 

   Write short notes on. : 

(i) Electronegativity and its periodicity 

(ii) Effective Nuclear Charge 

 

 
 



¼l½  Cr 24 dk bysDVªkfud foU;kl cukb,A         1 vad 

 Write electronic configuration of Cr 24. 
 

bdkbZ& II (Unit-II) 
 

    2- ¼v½ ckuZ gscj pØ ds vk/kkj ij NaCl dk cuuk le>kb,A bldh tkyd mtkZ  

Kkr dhft,A             3 vad 
 

Explain Formation of NaCl on the basis of Born-Haber cycle. Determine its 

lattice energy. 

¼c½ /kkfRod cU/k dk vkf.od dud fl)kar le>kb,A blds vk/kkj ij /kkrqvksa dh  

pkydrk Li’V djksA            3 vad 
 

Explain Molecular Orbital theory of metallic bond. On the basis of this describe 

conduction in metals 

¼l½ n-type v/kZpkyd dk ,d mnkgj.k nhft,A        1 vad 
 

Give one example of n-type semiconductor  
 

vFkok@Or 
 

¼v½ izfr”kr vk;fud xq.k D;k gS \ f)/kwo vk?kw.kZ ls ;g fdl izdkj lacaf/kr gS \ 

              2 vad 

    What is percentage ionic character ? How it is related to Dipole moment? 

¼c½ leUo; la[;k ds vk/kkj ij fdl rjg fØLVy dh vkd`fr dh Hkfo’;ok.kh dh  

    tk ldrh gS \ mnkgj.k lfgr le>kvksA         2 vad 

       How can shape of crystal can be predicted on the basis of coordination     

       number ? Explain with examples. 

¼l½ dkj.k lfgr le>kvks%            3 vad 

¼i½ NaCl dk xyukad MgCl2 ls T;knk gksrk gSA 

¼ii½ cSUM fl)kar ds vk/kkj ij lwpkyd] vpkyd vkSj v/kZpkyd esa varj    

   Li’V djksA 

Explain with reasons : 

(i) Melting point of NaCl is more than MgCl2 

(ii) Diffrentiate between good conductor, bad conductor and 

semiconductor on the basis of band theory. 
 

bdkbZ& III (Unit-III) 
 

     3- ¼v½%&   VSEPR la;kstdrk cU/k bysDVªku ;qXe izfrd’kZ.k fl)kar ds vk/kkj ij H2O   

dh lajpuk le>kb,A           2 vad 

Explain Structure of H2O on the basis of VSEPR valance Shell Electron 

pair repulsion Theory. 

¼c½%&   N2 dk vkf.od dud vkjs[k cukb,A le>kb, fd N2 v.kq izfrpwcadh; D;ks  

       gS \             2 vad 

Draw molecular orbital diagram of N2 . Explain why N2 is Diamagnetic 

¼l½%&   cU/k mtkZ ij fVIi.kh fy[kksA          2 vad 

Write note on Bond energy  

¼n½%&   veksfu;k dh lajpuk gS           1 vad 

 ¼i½ f=dks.kh;     ¼ii½ fijkfeMy  

 ¼iii½ prq’Qydh; ¼iv½ js[kh; 
Shape of Ammonia is 

 ¼i½ Trigonal         ¼ii½ Pyramidal 

 ¼iii½ Tetrahedral ¼iv½ Linear 
 

vFkok@Or 
 

 



¼v½ ijekf.od dud js[kh; la;kstu ¼LCAO½ ds vk/kkj ij vkca/kh ,oa izfrca/kh dud  

    le>kb,A             2 vad 

    On the basis of Linear combination of Atomic Orbital ¼LCAO½explain    

       bonding and non-bonding orbitals. 
 

¼c½ IF7 dh lajpuk ladj.k ds vk/kkj ij le>kb,A        2 vad 

    Explain Structure of IF7 on the basis of hydridisation.  

¼l½ o ,oa π cU/k esa vraj Li’V dhft,A         1 vad  

    Diffrentiate  o and π bond. 

¼n½ NH3  ,oa PCL5 esa ladj.k dk izdkj D;k gksrk gS \        1 vad 

    Name Type of hybridisation in  NH3  and PCl5 

¼b½ cU/k la[;k c<+us ij cU/k lkeF;Z esa D;k ifjorZu gksrk gS \       1 vad 

    ¼i½ c<+rk gS       ¼ii½ de gksrk gS  

    ¼iii½ vifjofrZr jgrk gS ¼iv½ de ;k T;knk gksrk jgrk gS 
 

        Change in bond strength after increase in number of bond   

    ¼i½  Increases  ¼ii½ Decreases 

    ¼iii½ Unchanged  ¼iv½ May increase or decrease 
 

 
 

bdkbZ& IV (Unit-IV) 
 

     4- ¼v½%& S-Cykd rRoksa dk tSo rU=ksa esa dk;Z Li’V djksA        3 vad 

        Explain Application of S-block elements in biological functions. 

¼c½%& fuEu ij laf{kIr fVIi.kh fy[kks%          3 vad 

 ¼i½ |æe gSykstu 

 ¼ii½ Qwysjhu 

Write short notes on following. 

(i) Psuedo Halogen 

(ii) Fullerene 
 

  vFkok@Or 
 
 

¼v½%& Mkbcksju dh gkbMªkstu lsrw lajpuk dk o.kZu dhft,A        3 vad 

Describe hydrogen bridge structure of Diborane 

¼c½%& fuEu ij fVIi.kh fy[kks            3 vad 

¼i½ Be ,oa Al esa fod.kZ laca/k 

¼ii½ ØkÅu b/kj 

Write notes on following. 

(i) Diagonal relation between Be and Al 

(ii) Crawn Ether 
  

. bdkbZ& V (Unit-V) 
 

     5- ¼v½%& tsuku ds ;kSfxdksa ij laf{kIr fVIi.kh fy[kksA        2 vad 

           Write notes on compounds of Xenon.  
 
 

 ¼c½%& fuEu ij fVIi.kh fy[kks%           4 vad 

¼i½ le vk;u izHkko 

¼ii½ QkLQsV fu’dk”ku dk fof/k 

Write short notes on . 

(i) Common Ion effect 

(ii) Removal of interferring radical phosphate  
 

  vFkok@Or 
 



¼v½ tsuku ds ;kSfxdksa esa lajpuk ,oa cU/k izdkj dk fooj.k nhft,A      2 vad 

       Write in detail structure and bonding in compounds of Xenon. 

 

¼c½ fuEu ij fVIi.kh fy[kks             4 vad 

 ¼i½ pkjdksy xqfgdk ijh{k.k 

 ¼ii½ f}rh; ,oa prqFkZ lewg {kjh; ewyd ijh{k.k esa H2S xSl dh mi;ksfxrkA 

 

Write Shorts notes on. 

(i) Charcoal cavity test 

(ii) Application of H2S in IInd  and IVth group basis radical analysis 
 

-----0----- 
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DD-2646(SE) 

B.Sc./B.Sc. B.Ed. (Part I) Examination, 2020 

CHEMISTRY 
 

Paper Second  

¼ Organic Chemistry½ 

Time : Three Hours 

Maximum Marks : 33 
 

uksV% dqy ik¡p iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSA  

     Attempt all the five questions. One questions from each Unit is compulsory.                                
         

bdkbZ& I (Unit-I) 
 

1 ¼v½%&  izsjf.kd izHkko D;k gS \ bldk vEyksa o {kkjdksa dh izcyrk ij izHkko dk   

       o.kZu dhft,A           4 vad 

      What is inductive effect ? Describe its effect on strength of acids and    

       bases. 
  

    ¼c½%& dkj.k Li’V djrs gq, fuEufyf[kr dks ukfHkd Lusgh rFkk bysDVªkWu Lusgh  

   esa oxhZdr̀ dhft,A           3 vad 

   NH3] I−
] Br+

] H2O, AlCl3, C≡ N− 
Classify following in to nucleophili and electrophili along with 

season . 

 
 

vFkok@Or 
 

        ¼v½ ;ksxkRed] izfrLFkkiu ,oa foyksiu vfHkfØ;kvksa dks mi;qDr mnkgj.k nsdj  

        le>kb;sA            3 vad 

  Explain addition, Substitution and elimination reactions giving    

  suitable examples.  

         ¼c½ fVIi.kh fyf[k,% 

   ¼i½ ukbVªhu  
   ¼ii½ bysDVªksesfjd izHkko            4 vad 
 

   Write short notes on. : 

(i) Nitrene 

(ii) Electromeric effect. 
 

 

bdkbZ& II (Unit-II) 
 

    2- ¼v½ fuEu esa ls dkSu lk ?kzqo.k ?kzq.kZd gS \         1 vad 

 ¼i½ CH2OH−CH2 − COOH ¼ii½ CH3 −CHCl−COOH  

 ¼iii½ CH2Cl−CH2 − CH2Cl ¼iv½ CH2Cl−CH2 − COOH 
 

 

 



Which one of the following is oplically active ?. 

 ¼i½ CH2OH−CH2 − COOH ¼ii½ CH3 −CHCl−COOH  

 ¼iii½ CH2Cl−CH2 − CH2Cl ¼iv½ CH2Cl−CH2 − COOH 

 

¼c½ izfrfcEc :i] vizfrfcEc :I ,oa felks ;kSfxd esa varj Li’V dhft,A izR;sd dk 

mnkgj.k nhft,A            3 vad 
 

Explain the difference between enantiomers, diastereoisomers and Meso 

compounds. Give example of each . 

¼l½ DL-ukedj.k i)fr ij fVIi.kh fyf[k,A         3 vad 
 

Write a note on DL-System of nomenclature. 
 

vFkok@Or 
 

¼v½ lery /kzqfir izdk”k D;k gS \          1 vad 

    What is plane polarised light. 

¼c½ vkWfDleksa dh T;kferh; leko;ork dk o.kZu dhft,A       3 vad 

       Describe geometrical isomerism of oximes. 

¼l½ fQ'kj iz{ksi lw=] lkWgklZ iz{ksi lw= ,oa U;weSu iz{ksi lw= dks mnkgj.k lfgr  

    le>kb;sA              3 vad 

    Explain Fisher Projection formula, Sawhorse projection formula, and   

       newmann projection formula with example. 
 

bdkbZ& III (Unit-III) 
 

     3- ¼v½%&  lkbDyksgsDlsu dk dqlhZ :i] ukSdk :i] ls vf/kd LFkkbZ gS] D;ksa \    2 vad 

Chair form of cyclohexane is more stable than its boat form why ? 

¼c½%&   cs;j ds ruko fl)kar dh lhekvksa dks le>kb;sA       2 vad 

Explain the limits of Baiyer’s strain theory.  

¼l½%&  n- C;wVsu ds la:i.kksa dk o.kZu dhft,A mtkZ vkjs[k Hkh cukb;sA       3 vad 

Describe the conformation of n-butane. Give energy diogram. 
 

vFkok@Or 
 

¼v½ lkbDyks,Ydsuksa ds LFkkf;Ro ij fVIi.kh fyf[k,A        3 vad 

    Write a note on the statoility  of cycloalkanes 
 

¼c½ f} izfrLFkkfir lkbDyksgsDlsu ds la:i.kksa dk o.kZu dhft,A      4 vad 

    Describe Conformation of Di- Substituted cyclohexane. 
 

 
 

bdkbZ& IV (Unit-IV) 
 

     4- ¼v½%& fuEufyf[kr ls ,Ydsu dSls cuk;saxs&         2 vad 

(i) xzhuukMZ vfHkdeZd  

(ii) eksuks dkcksZfDlfyd vEy 

How will you prepare alkane from following 

(i) Grignard reagent 

(ii) Monocarboxylic acid 
 

 
 

¼c½%& vkblksC;wVsu ij Dyksjhu o czksehu dh fØ;k ds }kjk oj.kkRedrk ,oa fØ;k”khyrk  

     dk o.kZu dhft,A            4 vad 

         Describe reactivity and selectivity by reaction of chlorine and bromine on   

         isobutane. 

 

 



 
 

.   vFkok@Or 
 

     5- ¼v½%& fuEu vfHkfØ;kvksa dks fØ;kfof/k lfgr le>kb;sA       3 vad 

¼i½ oqV~Zt vfHkfØ;k 

¼ii½ MhYl ,YMj vfHkfØ;k 

Explain following reactions with mechanism. 

(i) Wurtz Reaction  

(ii) Diels Alder reaction  

¼c½%& lSVtSQ fu;e dks mnkgj.k lfgr le>kb;sA        3 vad 

Explain Saytzeff rule with example. 
 

. bdkbZ& V (Unit-V) 
   

 ¼v½ fuEu esa ls o-, p- vkSj m- fnf”kd lewgksa dks igpkfu,A       1 vad 

− NH2, −CHO, −COOH, −CH3 

        Identify o-, p- and m- directing groups from following. 

− NH2, −CHO, −COOH, −CH3 

 

 ¼c½ csathu ls fuEu dks dSls izkIr djsaxsA         2 vad 

 ¼i½ VkWywbZu 

 ¼ii½ csathu lYQksfud vEy 

How will you get following from benzene. 

(i) Toluene 

(ii) Benzene Sulphonic acid  

 

 ¼l½ fVIi.kh fyf[k,&            3 vad 

 ¼i½ ,jksesfVdrk 

 ¼ii½ lfØ;dkjh ,oa fuf’d;dkjh lewg 

How will you get following from benzene. 

(i) Aromativity  

   ¼ii½    Activating and deactivating groups.  

 

.   vFkok@Or 
 

  ¼v½ fuEu vfHkfØ;kvksa dks iw.kZ dhft,&         2 vad 

  

       Cl 
   

         Cl2 

  ¼i½   FeCl3 

 
 

Compelte the following reactions- 

 

      NO2 
 

        HNU3 

  ¼ii½    H2SO4 

 

 

 



¼c½ o  ,oa 𝜋 ladqyksa dk mYys[k djrs gq, csathu esa bysDVªksfQfyd ,jksesfVd     

   izfrLFkkiu dh fØ;kfof/k dk o.kZu dhft,A mtkZ vkjs[k Hkh cukb;sA     4 vad 

   Describe the mechanism of electrophilic aromatic substitution in benzene  

     mentioning  o  and 𝜋 complex give energy diogram.  

-----0----- 
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DD-2647 (SE) 

B.Sc /B.Sc BEd. (Part-I), EXAMINATION, 2020 
 CHEMISTRY 

Paper Third 

(Physical Chemistry) 

Time : Three Hours 

Maximum Marks : 34 

 

uksV% lHkh ik¡p iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSaA lHkh  iz”uksa ds vad 

leku gSa A 
 

Note : All questions are compulsory. Attempt any two parts from each question. All question carry 

equal marks. 
 

bdkbZ –I 

Unit –I 

1- (v) eku Kkr dhft, %       √
       

  

 
                                            (2) 

;fn                    

                   

                   

    

 

      Find out value of       √
       

  

 
 

        if                

                

                 

 

 

(c) fuEufyf[kr ljy js[kk lehdj.k ls izo.krk ,oa vr% [k.M Kkr dhft,% y –x =0         (1) 

     Find out the slope and intercept from the following straight line equation: y - x =0              

       (l) vodyu xq.kkad Kkr dhft, %  5x
2  

             (1) 

          Find out differential coefficient:   5x
2
 

  (n) (1111)2 o (0111)2  dk xq.kk dhft,A           (2) 

                      Multiply  (1111)2 by (0111)2   



Page 2 of 5 
 

    (;)  eku Kkr dhft, ∫
 

  
                                 (1) 

 Calculate value of   ∫
 

  
                                                                        

vFkok / Or 

      (v) y?kqx.kd dh lgk;rk ls fuEufyf[kr dks gy dhft, %     
     

 
      

    

    
                 (2) 

  Using log table solve the following:       
     

 
      

    

    
 

      (c) fuEufyf[kr lehdj.k ds fy, ljy js[kk [khafp, rFkk <ky ,oa vr%[k.M dh x.kuk dhft,& (2) 

2x + 3y + 6 = 0 

 Draw straight line for the following equation and calculate slope and intercept: 

2x + 3y + 6 = 0 

      (l) ;fn y = 4x
3
 + 3x

2
 + 2x + 1  gks rks 

  

  
 dk eku Kkr dhft,A                        (2)          

     If y = 4x
3
 + 3x

2
 + 2x + 1 , than find out the value of  

  

  
 . 

      (n)  0.00024  la[;k esa lkFkZd vad Kkr dhft, A            (1) 

  Find out significant figure in number 0.00024 

bdkbZ –II 

Unit- II 

2- (v) xSlksa ds Økafrd voLFkk dh foospuk dhft,A fl) dhft, Økafrd rkiØe&        (3) 

                               
  

    
 

                    Discuss critical state of gases. Prove that critical number – 

        
  

    
 

(c) la?kÍu vko`Rrh ,oa la?kÍu la[;k dks la{ksi esa Li’V dhft, A         (2) 

    Explain in brief on collision frequency and collision number. 

(l) 60 C ij vkWDlhtu xSl ds oxZek/; eqy osx dh x.kuk dhft, &                     (2) 

                             

     Calculate root mean square velocity of oxygen gas at 60 C 
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vFkok / Or 

 

(v) okLrfod xSls vkn”kZ O;ogkj ls fdl rjg fopyu iznf”kZr djrh g Sa \ fopyu dk dkj.k 

    Li’V dhft,\ ok.Mj okYl lehdj.k fy[kdj iz;qDr ‘a’ o ‘b’  dk ekud crkb;sA    (3) 

       How real gases deviate from ideal behaviour? Give proper reasons for their deviation 

                  and write down vander-waal’s equation and mention the unit of ‘a’ and ‘b’. 

(c)  xSlksa ds nzO;hdj.k dh fy.Ms fof/k dk o.kZu dhft, A         (2) 

      Describe Linde’s method for liquefaction. 

(l)  lokZf/kd izkf;drk osx] vkSlr osx ,oa ek/; ewy osx ds lw= fyf[k,A       (2) 

     Write down formula of most probable velocity, average velocity and root mean  

       square velocity. 

bdkbZ –III 

Unit –III 

3- (v) LVsysXeksehVj dh lgk;rk ls fdlk nzO; dk i`’B ruko dSls Kkr fd;k tkrk gS\ blls  

     ‘iSjkdksj’ dh x.kuk dSls dh tkrh gSa \            (3) 

     How to determine surface tension with the help of stolagmometer ? How to calculate 

     ‘parachor’ with surface tension. 

(c) ik;l fdrus izdkj ds gksrs gSa \ ik;l dk mi;ksx fy[kksaA           (2) 

       How many types of emulsion are there? Write down the application of emulsion. 

(l) ch-bZ-Vh- (BET)  vf/k”kks’k.k lerkih oØ D;k gSa \blds lehdj.k fy[kksaA        (2) 

       What is B.E.T. adsorption isotherm curve? Write down it’s equation. 

vFkok / Or 

(v) HkkSfrd vf/k”kks’k.k ,oa jklk;fud vf/k”kks’k.k esa varj Li’V dhft, \         (2) 

      Write down difference between physical adsorption and chemical adsorption? 

 (c)  fuEufyf[kr ij fVIi.kh fy[kksa %             (2) 

 (i) LdUnu 

 (ii) isIVhdj.k 

       Write short note on following:- 

(i)  Coagulation 

(ii)  Peptization 

  (l) fuEufyf[kr dks mnkgj.k lfgr le>kb, %           (3) 

        Explain following with example: 
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(i) f}/kzqo& f}/kzqo vU;ksU; fØ;k   

Dipole-Dipole interaction 

(ii) f}/kzqo izsfjr f}/kzqo vU;ksU; fØ;k  

Dipole- induced dipole interaction 

(iii) yUnu ifj{ksi.k vU;ksU; fØ;k  

London Dispersion- induced dipole interaction 

bdkbZ –IV 

Unit- IV 

4. (v) fuEufyf[kr eas foHksn dhft, % &                   (2) 
 

        Differentiate among the following- 

(i) lenSf”kd ,oa fo’kenSf”kd Bksl  

Isotropic and Anisotropic solid 

(ii) okbl ?kkarkd ,oa feyj ?kkrakd  

Weiss indices and Miller indices 

(c)  czsx lehdj.k             dks LFkkfir dhft,A          (2) 

     Establish Bragg’s equation            

   

           (l) Bkslks esa lajpuk fu/kkZj.k dh ‘ykÅ fof/k’ dks Li’V dhft, A               (2) 

      Explain ‘Laue’s method’ of structured, determination in solid. 

    vFkok / Or 

(v) ?kuh; fØLVy esa (100), (110), (111) ,oa (200) ryksa dks fp= }kjk Li’V dhft,A        (2) 

     Clarity the concept of (100), (110), (111) and (200) plans in a cubic crystal by  

         means of diagram. 

 

(c)  lk/kkj.k /ku] Qyd dsUnh; ?kuh; Pkkyd (FCC) ,oa var dsUnzh; ?kuh;pkyd (BCC)       (2) 

                    dks le>kb, ,oa bu pkydksa esa ijek.kqvksa dh la[;k Kkr dhft,A 

 

       Explain simple cubic, Face Centred Cube (FCC) , Body Centred Cube (BCC). And 

                      also determine number of atom in those cubic system. 

(l)  flft;e DyksjkbM (Cscl) fØLVy ds ,dd lsy dk ukekafdr fp= cukb,\            (2) 

      Draw labelled diagram of unit-cell of Caesium Chloride (Cscl) crystal. 
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bdkbZ –V 

Unit- V 

5. (v) vfHkfØ;k dh nj dks izHkkfor djus okys dkjd D;k gSa \                (2) 

    What are the tailors affecting the rate of reaction? 

            (c)  fuEufyf[kr esa varj Li’V dhft, %             (3) 

  Differentiate between the following:- 

(i) v.kqlajpuk ,oa vfHkfØ;k dh dksfV  

Molecularity and order of reaction 

(ii) lfØ;u mTkkZ ,oa nsguh mtkZ  

Activation energy and threshold energy 

 (l)  “kwU; dksfV dh vfHkfØ;k ds fy, nj fLFkjkad dk O;tad O;qIiUUk dhft,\                        (2) 

 Derive an expression for the rate constant of zero-order reaction. 

vFkok / Or 

(v) vfHkfØ;k dh dksfV fu/kkjZ.k dh v)Z vk;qdky fof/k dk o.kZu dhft;s\     (  
 ⁄ ) 

       Describe half-life method for determination of order of reaction. 

(c)  mRizsjd fdl izdkj dk;Z djrk gS \ le>kb,A        (  
 ⁄ ) 

      How does a catalyst work? Explain. 

(l)  vfHkfØ;k nj dk la?kÍu fl)kar le>kb,A           (2) 

     Explain the collision theory of reaction. 

(n)  vfHkfØ;k ds fy, 25 C ,oa 35 C ds e/; fØ;k dh nj nqxquh gks tkrh gSa] rks lfØ;u    (2) 

    mTkkZ dh x.kuk dhft,A (R=8.314 9k
-1

 mole
-1

) 

    For a reaction the rate of reaction becomes doubled between 25 C and 35 C. Calculate 

      the energy of activation. (R=8.314 9k
-1

 mole
-1

) 

 

 

------------------------ 
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DD-2655 (SE) 
B.Sc. (Part I) EXAMINATION, 2020 

COMPUTER SCIENCE 
Paper First 

(Computer Fundamentals) 
Time : Three Hours 
Maximum Marks :50 

 
           Attempt all the Five questions. One Question from each Unit is compulsory. All     
           questions carry equal marks. 
 

 (UNIT-1) 
 

 

1. Write the Generation of Computer.                                                (10) 
 

 

 (Or) 
 

 

         Explain Microprocessors. 
    

 (UNIT-2) 
 

 
 

2. Define Registers. Also write the different types of Registers.       (10) 
 

                                  
(Or) 

 
                                         
 

              Write short notes on Instruction word size. 
 

                     
                    (UNIT-3) 

 
3. Write short notes on following:-                                                      (10) 

(i) Cache memory     (ii) Virtual memory 
          

 (Or) 
 

              Explain destructive and non-destructive Readout. 
 
 
 



                                                                                                                             
P.T.O. 

              

      
                                               (UNIT-4) 
 

4. Write the Classification of plotter.                                                   (10) 
 

 (Or) 
 
         Explain Input and Output port. 
 
                                                (UNIT-5) 
 

5.  Define low-level and High-level language. Also write the advantages       
 of high-level language.                                                                    (10) 

 
 (Or) 

 
              What is debugging? Write the tools to debug programs.  

                                         -------------- 
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DD-2656 (SE) 
B.Sc. (Part I) EXAMINATION, 2020 

COMPUTER SCIENCE 
Paper Second 

(Programming in C Language) 
Time : Three Hours 
Maximum Marks :50 

 
           Note: Attempt any two parts from each Unit. All Questions carry equal marks.  

 
 (UNIT-I) 

 
 

 

(a).  What are data types ? Discuss fundamental data types of C   
       Language. 
 
(b).  Explain the concept of operator precedence and associativity. 
 
(c).  Differenciate between local and global variables with suitable C     
        program.  
 

 

  
 (UNIT-II) 

 
 
                 (a).  What do you understand by switch statement ? Explain the   
                         Concept of it with suitable C program. 
 
                 (b).  Write a C program to print the given pattern: 
 
                            1 

1 2 
                            1   2    3 
                            1   2    3    4 
                            1   2    3    4   5 
 
                  (c).  Explain recursive function with the help of C program. 
 

 
 

 



                                                                                                                             
P.T.O. 

              

 
                                  
 

                    (UNIT-III) 
 

 
(a) . What do you mean by multi-dimensional arrays? How to declare   

  it? 
 

(b) .  Explain the concept of structure with example. 
 

(c) .  Write short note on type def statement. 
 

 
                                               (UNIT-IV) 
 
 

(a) . What are pointers? How to declare it? Write uses of and *   
   Operators. 

 
(b) .  Discuss malloc and calloc dynamic memory allocation  
        functions. 

 
(c) .  Explain the concept of arrays of pointer with suitable program. 

 
 
                                                (UNIT-V) 
 
 

(a) .  What is filepointer? Write it’s use for file handling. 
 

(b) .  Discuss # define C pre-processor with suitable program. 
 

(c) .  Write brief note on: 
 

(1)  fread 
(2)  fwrite 

 
 

                                         -------------- 
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DD-2648 (SE) 

B.A/B.Sc /B.Sc BEd. (Part-I), EXAMINATION, 2020 
 MATHEMATICS 

Paper First 

(Algebra and Trigonometry) 

Time : Three Hours 

Maximum Marks : 50 

 

uksV% lHkh ik¡p iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSaA lHkh  iz”uksa ds vad 

leku gSa A 
 

Note : All questions are compulsory. Attempt any two parts from each question. All question carry 

equal marks. 
 

bdkbZ –I 

Unit –I 

1- (v) vkO;wg A ds vfHkyk{kf.kd ewyksa dks Kkr dhft, rFkk laxr vfHkyk{kf.kd lfn”k Kkr 

dhft,A 

A = [
    

     

    

] 

 

        Determine the eigen values and the corresponding eigen vectors of the matric A. 

A = [
    

     

    

] 

 
(c) fuEufyf[kr vkO;wg dk iafDr ,s”kayku :Ik esa leku;u dhft, vkSj bldh tkfr Kkr 

    dhft,&  

                   

 2 3 0 1 

A= 1 0 1 2 

 -1 1 1 -2 

 1 5 3 -1 
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                    Reduce the following matrix to the row reduced echelon form and determine its rank- 

 

 2 3 0 1 

A= 1 0 1 2 

 -1 1 1 -2 

 1 5 3 -1 

 

    (l) oxZle vkO;wg dks ifjHkkf’kr dhft, rFkk fn[kkb;sfd gfeZVh; vkO;wg ds vfHkyk{kf.kd eku 

        okLrfod gksrs gSa A 

  Define idempotent matrix and show that the characteristic values of Hermitian matrix are 

 real. 

bdkbZ –II 

Unit- II 

2-  (v) dkMZu fof/k ls f=?kkr dks gy dhft,A 

X
3
-15x-126=0 

                 Solve the cubic by Cardon’s method –  

X
3
-15x-126=0 

  (c) n”kkZb;s fd fuEu lehdj.k vlaxr gSa & (vkO;wg fof/k }kjk) 

x+y+z = -3 

3x_y-2z = -2 

2x+4y+7z = 7 

       Show that following equation s are inconsistent (using matrix method) 

x+y+z = -3 

3x_y-2z = -2 

2x+4y+7z = 7 

   (l) lehdj.k 6x
3
-11x

2
+6x-1=0 ds ewyksa dks Kkr dhft, ;fn ;s gjkRed Js.kh (H.P.) esa gSaA 

     Find the roots of the following equation of they are in H.P.  

6x
3
-11x

2
+6x-1=0 
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bdkbZ –III 

Unit- III 

3- (v) fl) dhft, fd fdlh mileqg ds nks nf{k.k (oke)  lgleqPp; ;k rks fola?kh; ;k loZle  

     gksrs gSA 

                    Prove that any two right(left) cosets of a sub group are either disjoint or identical. 

 (c) fn[kkb;s fd fdlh pØh; lewg ds tud dh dksfV] pØh; lewg dh dksfV ds cjkcj gksrh gSaA 

    Show that order of generator of a cyclic group is equal to the order of that group. 

  (l) QekZ dk izes; fy[kdj fl) dhft, & 

     State and prove Fermat’s Theorem.  

bdkbZ –IV 

Unit –IV 

   4-  (v) fl) dhft, fd lHkh lewgksa ds leqPp; esa rqY;kdkfjrk dk laca/k ,d rqY;rk laca/k gksrk gSaA 

 

     Show that the relation of isomorphism in the set of all groups is an equivalence relation. 

(c) fdlh lewg dk izR;sd lekdkjh izfrfcEc fdlh foHkkx lewg ls rqY;kdkjh gksrk gSaA 

       Every homomorphic  image of any group is isomorphic to some quotient group. 

(l) n”kkZb;s fd izR;sd ifjfer iw.kkZdh; izkUr ,d {ks= gksrk gSaA 

       Show that each finite integral domain is a field. 

bdkbZ –V 

Unit- V 

5. (v) fl) dhft, % & 

              

              
               

 

  Prove that 

  

              

              
               

                     (c) ;fn               ] rc fl) dhft,& 

 

                
  

      
 

  

      
    and  
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                             If                 , then  show that : 

  

      
 

  

      
    and  

  

     
 

  

     
   

                         (l) ;fn   
     

      rks fl) dhft, fd & 

   (i)    
  

 
 

 

 
       (ii)            

         If    
     

      , then show that - 

   (i)    
  

 
 

 

 
       (ii)            
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DD-2649 (SE) 

B.A/B.Sc /B.Sc BEd. (Part-I), EXAMINATION, 2020 
 MATHEMATICS 

Paper Second 

(Calculus) 

Time : Three Hours 

Maximum Marks : 50 

 

uksV% lHkh ik¡p iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSaA lHkh  iz”uksa ds vad 

leku gSa A 
 

Note : All questions are compulsory. Attempt any two parts from each question. All question carry 

equal marks. 
 

bdkbZ – I 

Unit –I 

1- (v) n”kkZb, fd fuEufyf[kr Qyu f(x), fcUnq x=0 ij larr rksgS ij f ’(0) dk vfLrRo ugh gSa& 

f(x) = {
  

 
 ⁄

   
 

 ⁄
          

                   
 

 

        show that the given function f(x) is continuous at x=0, but f ‘(0) does not exists : 

f(x) = {
  

 
 ⁄

   
 

 ⁄
          

                   
 

 

(c) ;fn y =            ,  rks n”kkZb, fd  

(1-x
2
)yn+2 -(2n+1)xyn+1 - (n

2
-m

2
) yn= 0 

       If  y =            ,   then show that  

(1-x
2
)yn+2 -(2n+1)xyn+1 - (n

2
-m

2
) yn= 0 

     (l) 2x
3
 +7x

2
 + x -1  dks (x -2) dh ?kkrksa esa Vsyj izes; ls izlkfjr djsaA 

   Expand 2x
3
 +7x

2
 + x -1  using Taylor’s theorem in the power of ( x-2). 

bdkbZ –II 

Unit- II 

2-  (v) vuUrLif”kZ;k¡ Kkr dhft, %& 

4x
3
 – 3xy

2
 –y

3
 + 2x

2
 –xy – y

2
 = 2 

                 Find the asymptotes :-  

4x
3
 – 3xy

2
 –y

3
 + 2x

2
 –xy – y

2
 = 2 
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  (c) fl} dhft, fd pØt  x = a(t+     ), y= a(1-     ) ds fdlh fcUnq t ij oØrk 

    f=T;k          
 

 
  gSa A 

       Prove that the radius of curvature for the cycloid  x = a(t+     ), y= a(1-     )  

      at any point t is          
 

 
  

   (l) oØ y
2
(a - x) = x

2
(a + x) dk vuqjs[k.k dhft, A 

         Trace the curve  y
2
(a - x) = x

2
(a + x) 

 

bdkbZ –III 

Unit- III 

3- (v) eku Kkr dhft, %& 

  ∫             
  ⁄

 
    

                   Find the value :-             ∫             
  ⁄

 
    

 (c) oØ  y
2
 (2a - x) = x

3 
 dk oØ dk blds vuUrLif”kZ;ksa ds e/; dk {ks=Qy Kkr dhft, A 

    Find the area enclosed between the curve  y
2
 (2a - x) = x

3 
 and its asymptotes. 

  (l) ijoy; y
2
 = 4ax  ds “kh’kZ ls ukfHkyEcesa ,d fljs rd ds pki dh yackbZ Kkr dhft,A 

     Find the length of the parabola y
2
 = 4ax from the vertex to an extremity of the lotus 

                    rectum.  

bdkbZ –IV 

Unit –IV 

4- (v) gy dhft, %  

   

   
              

                       Solve :-      
   

    
              

 (c) fuEufyf[kr lehdj.k dk O;kid ,oa fofpr gy Kkr dhft, %& 27 y = 8p
2
 

       Find the general and singular solution of the equation 27 y = 8p
2
 

(l) gy dhft, %& 
  

  
                 

       Solve :-  
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bdkbZ –V 

Unit- V 

5.      (v) gy dhft, % & 

  

      
  

  

      
 

  

       
 

 

      Solve :- 

  
  

      
  

  

      
 

  

       
 

 

                         (c) gy dhft, % & 

                             
   

   
   

  

  
             

   

                             Solve :- 

    

   
   

  

  
             

 

    (l) gy dhft, % & 

        
  

  
           

  

  
         

       Solve :- 
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DD-2650 (SE) 

B.A/B.Sc /B.Sc BEd. (Part-I), EXAMINATION, 2020 
 MATHEMATICS 

Paper Third 

(Vector Analysis and Geometry) 

Time : Three Hours 

Maximum Marks : 50 

 

uksV% izR;sd iz”u ls nks Hkkx gy dhft,A lHkh  iz”uksa ds vad leku gSa A 
 

Note : Attempt any two parts from each question. All question carry equal marks. 
 

bdkbZ – I 

Unit –I 

1- (v) fl) dhft, fd & 

[l, m, n] [a, b, c] =|
         
         
         

| 

 
              Prove that :-  

[l, m, n] [a, b, c] =|
         
         
         

| 

 

(c)             
  dk fnd vodyt fcUnq P(1, 1, -1) ij 2i+ j=k dh fn”kk Kkr 

    dhft, \ 

     Find the direction derivative of              at the point P(1, 1, -1) in the 

     direction 2i+ j=k. 

        

     (l) fl) dhft, fd & 

    Div grad                      

         Prove that  

  Div grad                      
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bdkbZ –II 

Unit- II 

2-  (v) ewY;kadu dhft, %& 

∫            
 

 
     tgk¡  

A= ti – 3j+ 2tk, B= i-2j+2k, C= 3i + tj –k 

                      Evaluate :-  

∫            
 

 
     where  

      A= ti – 3j+ 2tk, B= i-2j+2k , C= 3i + tj –k 

 

  (c) ∫     
 

 ewY;kadu dhft, tgk¡ 

            F= xyi + yzj +zxk  rFkk C  oØ  r= ti + t2j + t3k gSa] tgk¡ t] -1 ls 1 rd cnyrk gSaA 

      Evaluate ∫     
 

 where F= xyi + yzj +zxk   and C is the curve r= ti + t2j + t3k,  

            t varying from -1 to 1 . 

 

   (l) lery esa xzhu ds izes; dk lR;kiu dhft, & 

           ∮                     
 

   ds fy, dhft, tgk¡ C o`Rr x
2
 + y

2
 = 1 gSaA 

  Use Green’s thermo in plane to evaluate  

    ∮                     
 

 where C is the circle x
2
 + y

2
 = 1 

bdkbZ –III 

Unit- III 

3- (v) “kkado dk vuqjs[k.k dhft, rFkk mldh fu;rk,¡ Kkr dhft, %& 

                17x
2
 – 12xy + 8y

2 
+ 46x -28y + 17 = 0  

   Trace the conic 

  17x
2
 – 12xy + 8y

2 
+ 46x -28y + 17 = 0  

     Also find the equation of its difectrices.  

 

(c) “kkado x
2
 + 2y

2
 = 2 ls laukfHk “kkado dklehdj.k Kkr dhft, tks fcUnq (1,1) ls gksdj tkrk 

     gSaA 

      Find the conic confocal with the conic x
2
 + 2y

2
 = 2  which passes through the pint (1,1). 

  (l) ;fn PSP’ “kkado 
 

 
         dh ,d ukfHkxr thok gSa ftldh ukfHk S gSa n”kkZb, 

           fd  
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                        if PSP’ is the focal chord of a conic 
 

 
         whose focus is s then show        

     that 
 

  
 

 

   
 

 

 
 

bdkbZ –IV 

Unit –IV 

4- (v) f=T;kvksa r1vkSj r2 ds nks xksys ykfEcd izfrPNsn djrs gSA fl) dhft, fd mHk;fu’V o`Rr 

     dh f=T;k & 

    

√  
    

 
 

                       Two spheres of radii r1 and r2 intersect orthogonally. Prove that the radius of the 

                        common circle is -      
    

√  
    

 
 

 (c) fl) dhft, dh lehdj.k &  

 ax
2 
+ by

2
 + cz

2
 +24x + 2xy + 2wz + d =0 

,d ”kadq iznf”kZr djrk gSa ;fn & 

  
  

 
 

  

 
 

  

 
    gSaA 

       Prove that the equation  

 ax
2 
+ by

2
 + cz

2
 +24x + 2xy + 2wz + d =0 

 represent the cone  

 
  

 
 

  

 
 

  

 
     

(l) ml yEco`Rrh; csyu dk lehdj.k Kkr dhft,] ftldk funsZ”kkad o`Rr x
2
+ y

2
 + z

2
 =9; 

 x – y + z = 3  gSa A 

         Find the equation of right circular cylinder whose guiding circle is x
2
+ y

2
 + z

2
 =9; 

 x – y + z = 3. 

bdkbZ –V 

Unit- V 

5.      (v) n”kkZb;s dh lery 2x - 4y – z + 3 =0  ijoylt  x
2
 –y

2
 = 3z  dks Li”kZ fcUnq 

       Kkr dhft,A 

 

      Show that the plane 2x - 4y – z + 3 =0 touches the parabolic x
2
 –y

2
 = 3z 

                          and fixed the point of contact  
 

                   (c) vfrijoy;t 
  

  
 

  

  
 

  

  
   ds fcUnq (             ) ls tkus okys  

               tudkas ds lehdj.k Kkr dhft,A 
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                             Find the equations of generations of the hyperboloid 
  

  
 

  

  
 

  

  
    which 

           pass through the point (             ) 
 

       (l) n”kkZb, fd & 

   2x
2
 + 2y

2
 + z

2
 + 2yz - 2zx - 4xy – x + y = 0 ,d ijoylt dks fu:fir 

    djrk gSaA lekuhr lehdj.k “kh’kZ dk funsZ”kkad vkSj v{kksa ds lehdj.k Kkr dhft,A 

  𝑆how that the equation – 

   2x
2
 + 2y

2
 + z

2
 + 2yz - 2zx - 4xy – x + y = 0  represents a parabolic. 

 find the reduced equation the co-ordinates of the vertex and equation to the axes. 

 

 

 

 

 

 

 

------------------------------- 
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DD-2643(SE) 

B.Sc./B.Sc. B.Ed. (Part I) Examination, 2020 

PHYSICS 
 

Paper First   

¼Mechanics, Oscillations and Properties of Matter½ 

Time : Three Hours 

Maximum Marks : 50 
 

uksV% LkHkh ik¡p iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSA lHkh 

iz”uksa ds vad leku gSA 

Attempt all the five questions. One questions from each Unit is compulsory. All 
questions carry equal marks.                                

         

bdkbZ& I (Unit-I) 
 

1- %&  fl) dhft, fd xzgksa dh d{kk nh?kZo`Rrkdkj gksrh gS rFkk lw;Z bl  

nh?kZòRrh; d{kk ds ,d ukfHkd ij fLFkr gksrk gSA     10 vad 

Prove that the orbit of a planet is an ellipse with the sun at one of the 

two foci of this ellipse  
  

vFkok@Or 
 

¼v½%&  dksfjvkWfyl cy D;k gS \       04 vad 

   What is Coriolis Force ?  

¼c½%&  dks.kh; laosx laj{k.k dk fu;e fyf[k, rFkk bls n d.kksa ds fudk;  

ds fy, fl) dhft,A        06 vad 

Write the law of conservation of angular momentum and prove 

it for a system of n Particles. 
 

bdkbZ& II (Unit-II) 
 

 2  %&  ¼v½ fl) djks fd ,d n`<+ fi.M ds fy, dks.kh; laosx rFkk dks.kh; osx  

 lkekU; :i ls ,d gh fn”kk esa ugh gksrs gSA      06 vad 

  Prove that for a rigid body, the angular momentum and angular velocity     

  are, in general, hot in the same direction. 

 ¼c½ fl) dhft, fd ?kw.kZu xfr djrs gq, n`<+ fi.M dh xfrt ÅtkZ    

 fuEufyf[kr O;atd }kjk O;Dr dh tkrh gSA      04 vad 

K = ½  
𝐽

→ . 
𝑊
→ 

 

   tgk¡ 
𝐽

→ fi.M dk lEiw.kZ dks.kh; laosx rFkk 
𝑊
→ fi.M dk dks.kh; osx gSA 

Show that the kinetic energy of a rigid body in rotational motion is given 

by the following expression- 

K = ½  
𝐽

→ . 
𝑊
→ 

 



Where  
𝐽

→ is the total angular momentum of the rigid body and  
𝑊
→ is 

the angular velocity of the rigid body. 
 

vFkok@Or 

 

(A)  m/okZ/kj ry esa fLizax ls yVds fi.M dh xfr dh O;k[;k dhft, rFkk blds    
 vkorZdky dk O;atd O;qRiUu dhft,A       05 vad 
 Explain the oscillations of a body conneeted with a spring in vertical    

 plane and derive expression for its time period . 

(B)  fl) dhft, fd ;kSfxd yksyd ds fy, fuyEcu fcUnq rFkk nksyu fcUnq vkil   
 esa ifjorZuh; gksrs gSA         05 vad 
  Show that the point of suspension and point of oscillation for a  

  compound pendulam are inter chargeable.  
 

bdkbZ& III (Unit-III) 
 

3  %&  leku vko`fRr ds nks ijLij yEcor~ ljy vkorhZ nksyuksa ds v/;kjksi.k ls  

       izkIr fyLlktw vkd`fr dh xf.krh; O;k[;k dhft,A       10 vad 

Give the mathematical explanation of lissaju’s figure obtained by the 

superposition of two mutually the perpendicular simple harmonic 

oscillations of the same frequency.  

 

vFkok@Or 

 
iz.kksfnr vkorhZ nksfy= ds nksy dh xfr esa vkSlr vo”kksf’kr “kfDr ds fy, 

O;atd fuxfer dhft,A         10 vad 

Derive expression for average power absorption in oscillatory motion of 

a forced harmonic oscillator  
 

 
 

bdkbZ& IV (Unit-IV) 
 

4  %& js[kh; Rofj= dh lajpuk rFkk fl)kUr le>kb,A midj.k ds fu;rkadks ds  

inksa esa blds }kjk vkosf”kr d.k dh izkIr ÅtkZ dk O;atd fuxfer dhft,A 

    10 vad 

Explain the construction and principle of linear accelerator Deduce 

expression for the energy aequired by the charged particle in it. 
 

  vFkok@Or 

 
¼c½%& fuEufyf[kr ij fVIif.k;k¡ fyf[k,A  

¼A½ pqEcdh; Qksdlu           05 vad 

¼B½ osx oj.kd           05 vad 

Write notes on the following. 

(i) Magnetic focussing  

(ii) Velocity Selector 
  

. bdkbZ& V (Unit-V) 
 

5  %& dsUVhfyoj D;k gS \ dsUVhfyoj ds Lora= fljs ij voueu ds fy, O;atd  

      fuxfer dhft,A           10 vad 
           What is a cantilever ? Derive an expression for the depression of the free  

          end of the cantilever. 
 

 

 

 



 

  vFkok@Or 
 

“;kurk xq.kkad D;k gS \ nzo ds /kkjk js[kh; izokg ds fy, ikWbtqyh dk lw= 

fuxfer dhft,A bl lw= dh D;k lhek,¡ gS \       10 vad 

What is co-efficient of viscosity ? Derive Poiseuille’s formula for stream 

line flow of the fluid ehat are the limitations of this formula ? 
 

-----0----- 

 

 

   P.T.O 

User1
Text Box



        

  Roll No. …………….. 

DD-2644(SE) 

B.Sc./B.Sc. B.Ed. (Part I) Examination, 2020 

PHYSICS 
 

Paper Second  

¼Electricity, Magnetism and Electromagnetic Theory½ 

Time : Three Hours 

Maximum Marks : 50 
 

uksV% LkHkh ik¡p iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSA lHkh 

iz”uksa ds vad leku gSA 

Attempt all the five questions. One questions from each Unit is compulsory. All 
questions carry equal marks.                                

         

bdkbZ& I (Unit-I) 
 

1- ¼v½%& fdlh vfn”k {ks= ds xzsfM,.V ls D;k rkRi;Z gS \ ladkjd 
∇
→ ds inksa  

      esa bldk lw= O;qRiUu dhft,A         6 vad 

      What is meant by Gradient of a scolar field ? Derive its expression  

           in terms of the operator 
∇
→      

vFkok@Or 

 

¼c½%&  ∫
3

0
∫

2

0
∫

1

0
 x dx dy dz dh x.kuk dhft,A 

  

    Calculate ∫
3

0
∫

2

0
∫

1

0
 x   dx   dy   dz           4 vad 

 
¼v½%&  uksVZu izes; fyf[k, rFkk bls fl) fdft,A       5 vad 

State and prove NORTON’S theorm. 

 

¼c½%&  fdlh osDVj {ks= ds MkbotsaUl dk vFkZ rFkk bldk HkkSfrd egRo  

le>kb,A                            5 vad 

Explain the meaning of divergence of a vector field and give its 

physical significance. 
 
 

bdkbZ& II (Unit-II) 
 

2-   ¼v½%& dwykWe dk fu;e osDVj :i esa fyf[k, rFkk bl fu;e ds vk/kkj ij  

      ,dkad vkos”k dh ifjHkk’kk fyf[k,A bl fu;e ds ykxq gksus dh D;k  

      “krZ gSA                                               7 vad 

 

      Write COULOMB’S LAW in vector form and on its basis define   

           unit charge what are the conditions for this law to applicable ? 

 ¼c½  fo|qr QyDl ls D;k vfHkizk; gSA bldk SI i)fr esa ek=d fyf[k,A 

      What do you mean by the elective flux ? write its SI Unit . 

             3 vad 

 



vFkok@Or 

 
¼v½ ;fn fdlh fo|qr f}/kzqo dks ,dleku fo|qr {ks= esa ∅ dks.k ij ?kqek;k 

tkrk gS rks bl fØ;k esa fd;s x;s dk;Z dh x.kuk dhft,A      5 vad 
An Electric dipole is turned by an angle ∅ in a uniform electric field 

calculate the amount of work done in the process. 

¼c½ fl) djks fd fo|qr {ks= E⃗⃗  esa lafpr izfr ,dkad vk;ru fo|qr ÅtkZ 

𝐸0𝐸
2

2
  gksrh gSA            5 vad 

Show that the Electric energy per unit volume stored in an electric field 

E⃗⃗  is  
𝐸0𝐸

2

2
 . 

 

bdkbZ& III (Unit-III) 
 

3  ¼v½%&  /kzqoh; rFkk v/kzqoh; v.kqvksa esa vUrj Li’V djksA buesa /kzqo.k dh fØ;k  

  le>kb;sA            4 vad 

    Differentiate between the polar and nonpolar molecules . Explain the    

    mechanism of polarisation . 

 
   ¼c½%&  fl) dhft, fd la/kkfj= dk izsjdRo ls foltZu nksyuh gksrk gSA   6 vad 

   Show that the discharge of a condenser through an inductance is   

   Oscillatory. 
 

vFkok@Or 

 
   ¼v½%&  Dykmfl;l & ekslkSVh lehdj.k fyf[k, rFkk bls fuxfer dhft,A 

    State CLAUSIUS – MOSOTTI equation and derive it .         6 vad 

     

   ¼c½%&  izR;korhZ /kkjk ifjiFk ds fy, vuqukn rFkk “kfUä xq.kkad inksa dks le>kb,A    

   Explain resonance and power factor terms related to an afternating   

   current circuit ?                                            4 vad 
 

 

bdkbZ& IV (Unit-IV) 
 

4  ¼v½%& ,sfEi;j dk fu;e D;k gSA ,adj oy; esa ogus okyh /kkjk ds dkj.k pqEcdh;  

   {ks= dk O;atd izkIr dhft,A          5 vad 

What is AMPERE’S LAW ? use it to deduce the intensity of magnetic 

field of current carrying anchor? 

   ¼c½%&  pqEcdu pØ rFkk “kSfFkY; gkfu dh O;k[;k dhft,A        5 vad   

   Explain the cycle of magnetisation and hysterisis loss. 

 

vFkok@Or 
   ¼v½%& ,dleku pqEcdh; {ks= esa o`Rrh; /kkjk ywi ij yxus okys cy vk/kw.kZ dk  

lw= LFkkfir dhft,A                       6 vad 

Establish the expression for the torque acting on a current carrying 

circular loop in a uniform magnetic field. 

   ¼c½%&  fVIi.kh fyf[k, 

  ¼i½ pqEcdu”khyrk 

¼ii½ pqEcdh; {ks= dh rhozrk         4 vad   

   Write short notes on  

(i) Magnetic permeability  

(ii) Intensity of magnetic field  

 

 
 



. bdkbZ& V (Unit-V) 
 

5  ¼v½%& nks dq.Mfy;ksa ds LoizsjdRo rFkk vU;ksU; izsjdRo ds chp lEcU/k LFkkfir  

  dhft,A            4 vad   
Deduce the relationship between the self Inductance and mutual   

Inductance of the two coils.  
 

   ¼c½%& fuokZr~ esa fo?kqr pqEcdh; rjaxksa esa 
E
→ rFkk 

B
→ ds fy, rjax lehdj.k dhft,    

rFkk fl) djks fd fuokZr~ esa rjaxksa ds xeu dh pky 

 𝑐 =
1

√𝑁0𝐸0
 gksrh gSA          6 vad   

Obtain wave equations for 
E
→ and 

B
→ in electromagnetic waves, in   

vacuum  and prove that the speed of waves in vacuum is  
 

    𝑐 =
1

√𝑁0𝐸0
 

 

  vFkok@Or 
 

   ¼v½%& eSDloSy dh foLFkkiu /kkjk /kuRo dh vfHk/kkj.kk dks le>kb;s rFkk fl)  

  djks fd le; ds lkFk ifjorhZ fo|qr {ks= 
E
→ esa mRiUu pqEcdh; {ks= 

B
→    

  ds fy;s   

curl 
B
→ = M0

J
→ + M0 E0 

𝜕𝐸⃗ 

𝜕𝑡
       7 vad   

Explain the concept of MAXWELL’S DISPLACEMENT CURRENT    

DENSITY and prove that for the electric field 
B
→ produced in a time  

varying electric field 
E
→ 

 curl 
B
→ = M0

J
→ + M0 E0 

𝜕𝐸⃗ 

𝜕𝑡
  

 

   ¼c½   ,d {k;ghu VªkUlQkseZj dh izkFkfed dq.Myh esa 500 Qsjs rFkk f}rh;d    

        dq.Myh esa 2500 Qsjs gS bldh f}rh;d dq.Myh ds vehVj o oksYVehVj 8    

        ,sfEi;j ij 200 oksYV i<+rs gSA rks bl  n”kk esa izkFkfed dq.myh esa vehVj    

        o oksYVehvj D;k i<+sxsaA          3 vad   

 A Transformer with no loss of energy has 500 turns in its primary coil     

 and 2500 turns in the Secondary coil The Ammeter and volt in its    

 secondary coil read 5 ampere at 200 volt what will be ammeter and  

 voltmeter in the primary coil read .  
 

-----0----- 

 

 

   P.T.O 
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      Roll No. ……….. 

 

DD-2653 (SE) 
B.Sc. / B.Sc.B.Ed (Part I) EXAMINATION, 2020 

ZOOLOGY 
Paper First 

(Cell Biology and Non-Chordata) 
Time : Three Hours 
Maximum Marks :50 

 
uksV% & lHkh ik¡p iz'uksa ds mRRkj nhft,A izR;sd bdkbZ ls ,d iz'u djuk vfuok;Z gSA lHkh iz'uksa    
      ds vad leku gSA 
           Attempt all the Five questions. One Question from each Unit is compulsory. All     
           questions carry equal marks. 
 

                                                                                                                   bdkbZ&1 
(UNIT-1) 

 
 

1- tUrq dksf”kdk dh lajpuk dk o.kZu dhft, rFkk izksdsfj;ksfVd dksf”kdk ls rqyuk 
dhft,A 
Describe structure of animal cell and compare with prokaryotic cell. 
 

 

vFkok 
(Or) 

 
 

      ØksekslksEl dh lajpuk] izdkj rFkk dk;ksZ ds ckjs esa fyf[k,A 
      Write down about the structure’ kinds and functions of chromosomes. 

    
                                       bdkbZ&2 

(UNIT-2) 
 

 

2-  dSalj ds izdkj rFkk dkjdksa ds ckjs esa fyf[k,A 
 

Write down about the types and causes of cancer. 
 

                                  vFkok 
(Or) 

 
                                         
 

                                             izfrjks/kh ra= esa Hkkx yssus okyh fofHkUu dksf”kdkvks dk o.kZu dhft,A 
          Describe different types of cells which involve in immune system. 
 

                    bdkbZ&3 
                    (UNIT-3) 
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3- vkchfy;k dk thou pØ dk lfp= o.kZu dhft,A 

Describe the life cycle of Obalia with diagram. 
          

vFkok 
(Or) 

 
        fuEufyf[kr dk laf{kIr esa o.kZu dhft,:& 
      ¼1½ lkbdu dk dksf”kdh; laxBu 
      ¼2½ iSjkehf”k;e dk izpyu 
          Describe in brief of the following:- 

(1) Cellular organization of sycon. 
(2) Locomotion of Paramecium. 

      
                                 bdkbZ&4 
                                               (UNIT-4) 
 

4- iSfyekWu ds fljkso{k mikaxks dk lfp= o.kZu dhft,A 
Describe cephalothoraxes appendages of palaemon with diagram. 
 

vFkok 
(Or) 

 
      fuEufyf[kr dk laf{kIr o.kZu dhft,:- 
         ¼1½ jsfM;k ,oa ldsZfj;k ykokZA 
      ¼2½ lsIVy usfÝfM;kA 
      Describe in brief of the following:- 

(1) Radia and Cercaria larva. 
(2) Septal nephridia.    

bdkbZ&5 
                                                (UNIT-5) 
 

5.  ikbyk ds “olu ra= dk lfp= o.kZu dhft,A 
   Describe respiratory system of Pila with diagram. 

 
vFkok 
(Or) 

 
     ,sLVsfj,l ds ikpu ra= dk lfp= o.kZu dhft,A 
         Describe digestive system of Asterias with diagram. 

                                         -------------- 
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DD-2654 (SE) 
B.Sc. / B.Sc. B.Ed (Part I) EXAMINATION, 2020 

ZOOLOGY 
Paper Second 

(Chordata and Embryology) 
Time : Three Hours 
Maximum Marks :50 

 
uksV% & lHkh ik¡p iz'uksa ds mRRkj nhft,A izR;sd bdkbZ ls ,d iz'u djuk vfuok;Z gSA lHkh iz'uksa    
      ds vad leku gSA 
           Attempt all the Five questions. One Question from each Unit is compulsory. All     
           questions carry equal marks. 
 

 

bdkbZ&1 
(UNIT-1) 

 
 

1- cSykuksXyksll dh ckg~; lajpuk  dk o.kZu dhft;sA 
Describe external structure of Balanoglossus. 
 

 

vFkok 
(Or) 

 
 

      fVIi.kh fdft,:- 
          ¼v½ nks mnkgj.k lfgr mHk;pj oxZ ds y{.k 
       ¼c½ ,fEQvkWDll ds izksVksusfÝfM;k dh lajpuk dk dsoy ukekafdr fp= 
      Comment on________ 

(a) Characters of class Amphibian with two examples. 
(b) Well labelled diagram of protonephridia of Amphioxus.   

    
                                       bdkbZ&2 

(UNIT-2) 
 

 

2-  eNfy;ksa esa izokl dks foLrkj ls le>kb;sA 
 

Describe migration in fishes in detail. 
 
 

vFkok 
(Or) 
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                                                 Lakf{kIr fVIi.kh dhft;s & 
      ¼v½ liZ fo’k 
      ¼c½ fu;ksVsuh 
          Write note in brief : – 

(a)  Snake venom. 
(b)  Neoteny. 

                                      bdkbZ&3 
                                              (UNIT-3) 
 

3- Ikf{k;ksa esa mM~M;u vuqdwyu D;k gSa\ foLrkj ls le>kb;sA 
What are flight adaptations in birds. Explain. 

          
vFkok 
(Or) 

 
        Tkyh; Lrfu;ksa esa ik;s tkus okys vuqdwyuksa dk o.kZu dhft;sA 
          Describe adaptations found in aquatic mammals. 
      
                                 bdkbZ&4 
                                               (UNIT-4) 
 

4- “kqØtuu D;k gS\ foLrkj ls le>kb;sA 
What is spermatogenesis? Explain in detail. 
 

vFkok 
(Or) 

 
      ¼v½ esBd ds iw.kZ xsLVªqyk dh lajpuk dk ukekafdr fp= 
      ¼c½ fMVjfeusV ,oa bufMVjfeusV izdkj dh Dyhost esa varj fyf[k;s 

(a) Structure of complete gastrula in frog.(Only labelled diagram) 
(b)  Write difference between determinate and indeterminate type of 

cleavage. 
               
 

bdkbZ&5 
                                                (UNIT-5) 
 

5.  Hkzw.kh; mRizsj.k D;k gS\ mnkgj.k lfgr le>kb;sA 
   What is embryonic induction? Describe with examples. 

 
vFkok 
(Or) 
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     fVIi.kh fyf[k, :& 
      ¼v½ ,fEu;kWu ,oa dksfj;kWu   
      ¼c½ fizfefVo LVªhd    
         Write notes on : – 

(a)  Amnion and chorion. 
(b)  Primitive streak. 

                                         -------------- 
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